(1—3 £R)

= 9 1= 2:'-33 §i] ‘
EARA,

¥ EAAHE LA



Simulated College English Tests
(Bands 1~3)

AF RBIRMTRSE
(1~34%)

T &/ #FHEF EARA

Bl IwE ZF EEHR

W oE & % RxfH Az
LRt BAR FERL
WHY MR KWL

YRAahas 4 ki



BEERER (CIP) IR

RFPGEBIAES . 1~ 3 QAP T 5g . —Jbat. hINAL &R0k, 2000.9
ISBN 7 — 5004 - 2834 - 0

T K10, & I. RIE-SFEFER-JEN. H31-4

o [ AR AS B S AE CLP 38088 4% 57 (2000) 555 69656 5

HREST PESREE R -

i b JEEEARVEKEEP 1585 fE 4% 100720

B W 010 — 84029453 f& H 010 - 64030272
= st http://www. cass. net.cn

% PR

B dbE SCEp R T

B R 200049 A% 1 EJ ¥R 2000 4F 9 A% 1 RERkI
¥ A 787x1092 1/16

Ep K 7.75

¥ OB O 1mTE

£ # 12.007G

FLWSEE ot [k A2 ) R 45 , 0 R Pl SB35 5 A % 17 DB IK 3% I 0t
e e



e
—

W B

KEMBHEBEIOCEAFT R ARFEAZRBIFAR TS EMAN, “F
St HFMA” 4 BR KRR, BRET 1~3EHZHFR, 1~3 44
AR E AR SRR B AR RGBSR L FRA, AP G ERBER
B AT BB, R T ERKERF 25T,

AMBRBMEGTHERABLBEN AR G(RFRERFRRA (BT
K)DVGE , RN —ERTEM , BTRKIMNK, CELERETLART
KB TEABFIAHFER, B, KAAEMESE ST A ELES Lo KA
ARBEKRFHFIHEA,

AR EBMERKRP1~3880, FH 45, TREXKFHERF R
B AR BB AR ARG A E 2K, RSB EFART
FHEABBARALATE REEFFTEHER,

BB AEMAMBEHAT:

F—E(ERAHMAR)

A (xFE ) Fik RSN RBHEE X,

F_E(RAHAR)

A (3HE ) ik LS T HET X,

F=EHmEEaR)

A (5 A SL) (kTR IL fe M B ML

FusE(mEA4X T ERMEMR)

A (AiE BERTE) Wdk F L fe s A 8 S L,

R AW IEREFH T(HFRAVGMBER,

VXD, THAR 4 B0, U THRIK T 4 B —HL 5, K
IR K AE S A FAUNRKRERE, FTRENELAZAE,HEEAN
REBRK , FHREEE, OFEHNRARTUAERE H5 4B E KRG LB 5
BRETHFHBE, LA TFTEEFT BG,

AMXBESER" LR ER"FHHY, BEANEL MK L%
B, PP R A HE R AR K R e B E X 4 BA X EHE, TRFAERNEN 4
B KA ENRRNAS, AR S A, B &N RS AMNETF,
BEREEBRTRIFL LA,

R
2000 4 7 A



Simulated College English Test

— Band One —
Test One
Part | Listening Comprehension(20% ) (20 minutes)
Section A  Short Conversations

Directions: In this section, you will hear 10 short conversations . At the end of each conversatwon , o question
will be asked about what was said . The conversazion and the question will be read only ONCE . Afier each ques-
tion there will be a pause . During the pause , you must read the four choices marked A), B), C) and D),
and decide which s the best answer . Then mark the corresponding letter on the Answer Sheet with a single line

through the center .

1. A) 7:45. B) 8:15.
. A) She can afford the coat.
C) She can’t afford the coat.

C) 7:35. D) 7:25.
B) She will buy the coat if she likes it.
D) She doesn’t know if she can have the coat.

3. A) She refused the invitation.
B) She accepted the invitation.
C) She doesn’t know if she will refuse the invitation.
D) She doesn’t know if she will accept the invitation.
4. A) She is forgetting her glasses. B) She isn’t remembering some glasses.
C) She is looking for some glasses. D) She is looking for her glasses.
5. A) Because he doesn’t speak much English. B) Because he doesn’t understand English.
C) Because she knows too much English. D) Because she can’t speak English.
6. A) Work to Option. B) Work Traditional Organization.
C) World Trade Organization. D) World Trade Organizations .
7. A) 9:18. B) 9:12. C) 9:10. D) 9:09.
8. A) Hong Kong and Macao. B) Taiwan.
C) The unity of China. D) Macao and Taiwan.
9. A) At the ticket office. B) In the street.
C) At a bus stop. D) On a bus.
10. A) The man dialed the wrong number. B) John was not there at that time.

C) John had a date at that time.

Section B Passages
Directions: In this section, you will hear3 passages

D) John was working then.

. At the end of each passage, you will hear some ques-
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tions . The passage and the questions will be read only ONCE . After you hear a question , you must choose the
best answer from the four choices marked A), B), C) and D). Then mark the corresponding letter on the An-
swer Sheet with a single line through the center .

Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) A letter. B) A long story. C) A long feport. D) An article.

12. A) She felt that the editor didn’t finish it.
B) Somebody told her.
C) The editor didn’t pass the test the lady gave him.
D) She found that some pages were still stuck together as before.
13. A) Clearly. B) Directly. C) Wisely. D) Generally.

Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) How to improve the quality of school education.
B) How to find a good studying way.
C) How to carry out reforms.
D) How to meet the demands of a dynamu: (A=PLE%)) world.
15. A) The United States, Australia, Hong Kong and Singapore.
B) The United Sfates, Hong Kong, the United Kingdom and Singapore.
C) Australia, Singapore, the United Kingdom and the United States.
D) Austria, Singapore, the United Kingdom and the United States.

16. A) One. B) Two. C) Three. D) Four.
Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A) In a farmhouse. B) Behind a farmhouse.
C) At the gate of a farmhouse. D) Beside a farmhouse.
18. A) For a dinner. B) For a glass of beer.
C) For a drink. D) For a place to live in.
19. A) She refused to give him anything. B) She gave him some food but with a requirement.
C) She gave him some food. D) She drove him away.
20. A) He did it as the woman asked. B) He couldn’t find the wood.
C) He got the wood. D) He saw the wood but he didn’t saw it.
Part [ Reading Comprehension(40% ) (35 minutes)

Directions: There are 4 passages in this part . Each passage is followed by some questions or unfinished. stade-
ments. For each of them there are4 choices marked A), B), C) and D). You should decide on the bést
— 2 J—



choice and mark the corresponding letter on the Answer Sheet with a single line through the center .

Questions 21 to 25 are based on the following passage:

When Americans consider families, many of them think of a “traditional family”. A traditional family is
one in which both parents are living together with their children. The father goes out and works, and the moth-
er stays home and rears the children. The biggest change in families in the United States is that most families
today do not fit this image. Today, one out of three American families is a “traditional family” in this sense.

The most common type of family now is one in which both parents work outside the home. In 1950, only
20 percent of all American families had both parents working outside the home. Today, it is 60 percent. Even
women with young children are going back to work. About 51 percent of women with children younger than one
year old now work outside the home.

Another big change is the increase in the number of families that are headed by only one person, usually
the mother.

Between 1970 and 1988, the number of single-parent families more than doubled—from 3.8 t0 9.4 mil-
lion. In 1988, nearly one out of every four children under 18 lived with only one parent.

Some families look even less like the typical traditional family. They may consist of a couple of one race
who have adopted children of another race, or people of another country. In many states, single people may al-
so adopt children. Some parents take in foster-children—children whose parents cannot take care of them.

Another change is that families in the Unites States are getting smaller. In the mid-1970s there were six
people in the average household. Today the average household contains between two and three people. A
household is defined as any place where at least one person is living. ’

One recent change is that the number of marriages is rising. The number of babies born also has been
climbing steadily for the past 10 years. Many experts see these trends as a sign that Americans are returning to

the values of marriage and family.

21. Which of the following is the most suitable title for this passage?

A) A Typical American Family ; B) Traditional American Family
C) The Changing American Family . D) American Values of Family
22. According to this passage, the biggest change in American families is ___ .
A) there are more working parents B) more Americans believe in marriage
C) there are more traditional families D) Americans have fewer children

23. Which of the following statements is true?
A) In 1988 9.4 million American families had no children.
B) In 1988 American families had four children on average.
C) In 1988 25 percent of the American population were children under 18.
D) In 1988 the United States saw the biggest number of single-parent families.
24. Some American families look even less like the typical traditional families because
A) they don’t have children around
B) they have other people’s children under their care
C) the parents cannot take care of their children



D) the parents come from different countries

25. For the past ten years the number of babiés inthe U.S. has been .
A) going up B) going down slowly
C) nearly the same D) going down rapidly

Questions 26 to 30 are based on the following passage:

Francis Bacon was an English philosopher and statesman who developed a scientific method for solving
problems. Bacon felt that people should have control over the world around them. The way to get this control is
through knowledge. The way to get knowledge is through science.

Bacon stated that there were several things, which kept peof:le from getting knowledge. First, people tend
to decide that something is generally true if they have found it to be true in only one ot two cases. They do not
test it to find out if it is true in all cases. Second, people base décisions on their own backgrounds and educa-
tion. They do not consider that someone with a different background and education might make a different deci-
sion. Third, people have to use words to describe something. Since words can be confusing, it is important to
be exact in a description. Bacon called these blocks of knowledge prejudices.

Once these prejudices are put aside, people can get knowledge through inductive reasoning. Inductive
reasoning requires making many chservations and tests before amvmg at any conclusions. -Bacon suggested that
lists be prepared. One list is for things that are true. A second list is for things that are not true. A third list
is for things that are more true than not. For example, a person has seen only red apples. He says, “All ap-
ples are red.” He believes this until he sees a yellow apple. He may then say, “Most apples are red.” If he

-had made lists as suggested by Bacon, he would find that there are many red apples and many yellow apples.
It would be better for him to say, “There are red apples and yellow apples.” Bacon’ s theory states that the
more often an idea is tested and found to be true, the more likely it is to be true.

Since Bacon was highly respected as a philosopher, his views were widely accepted. His work helped
greatly in the progress of Renaissance (3L E METHR) science.

26. The first problem with getting knowledge according to Baconis .
A) there is no test whatsoever
B) people believe things they have seen
C) tests are not adequate in number for truth
D) it is difficult to decide something generally true
27. Bacon also pointed out that knowledge was not easy to get because __
A) not all schools provided good education
B) different people might make different decisions on truth
C) people had not enough words for description
D) there was too much to learn

’”

28. The expression “blocks of knowledge” in the 2nd paragraph is closest in meaning to |

A) decision B) backgrounds and education
C) words to describe something D) things which keep people from getting knowledge



29. The example of red apples is given in the 3rd paragraph to show the importance of .
A) observing and testing B) getting knowledge
C) drawing conclusions D) preparing a list

30. This passage is mainly about __
A) Francis Bacon’s life B) Francis Bacon’s work in science

C) Francis Bacon’s theory on reasoning D) Francis Bacon’s view on getting knowledge

Questions 31 to 35 are based on the following passage:

What makes money valuable? Why is a piece of paper marked $ 10 worth more than one marked § 17
You could say there is no reason. It is true that a special kind of paper is used to make dollar bills, and they
are pretty, but that’s not what makes them valuable. The real reason money is valuable is that everyone be-
lieves it is. ‘

Ancient economies had no paper money or coins. Some used barter—trading one thing for another. Oth-
ers used all kinds of objects as money. Any object would do, as long as there was not an unlimited amount of-
it. Animals or metals were popular and so were manufactured products like jewelry or weapons. Wealth in an-
cient Greece was measured in tools or cattle. This kind of money had two purposes. First, it was useful in it-
self. Tools and cattle can be used for farming: Second, it was a way to symbolize and measure value. A
house, for example, would be valued at a certain number of tools or cattle. This greatly simplified trade. Oth-
er societies used money that was totally symbolic. For instance, American Indians used wampum ( | 5% &
BK) , which is made from seashells. And until recently on the Pacific Island of Yap, people used large stone
discs as money.

In most places these types of money died out because more practical forms of money were invented. Peo-
ple started using precious metals, such as gold and silver that were easier to carry than tools or stones. And in
the 18th century, a paper money was introduced. At first people were suspicious of the new curreney, but they
came to accept it because the government or bank issuing it would exchange an amount of gold for the paper.
A $ 10 bill was really worth of $ 10 gold. But now, people are used to the idea that government doesn’t have
to back its money with gold. Everybody believes that a $ 10 bill is worth $ 10 and that is good enough. But

if, for some reason, people ever lost faith in paper money, tén dollars wouldn’t be worth the paper it’s print-
ed on. :

31. Which of the following is NOT mentioned as the first kind of money?

A) Animals, B) Houses. ‘ C) Metals. D) Weapons.
32. Tools and cattle were used as money because

A) they could be found with every family ~ B) they were useful and symbolized value

C) they were easy to carry around D) they were the only wealth in ancient times
33. People were suspicious of paper money because

A) paper was not as useful as tools

B) paper had no value of its own’

C) paper was just invented and new to people

D) paper was under the control of the government



34. Which of the following statement is true? _
A) There is no reason why money is valuable.
B) The ancient Greeks were the first to use paper money.
C) Paper money is worth as much as the same amount of gold.
D) The value of money could change.
35. The best title for this passage might be “
A) Different Kinds of Money B) The Value of Money
C) Different Uses of Money D) The Origin of Money

Questions 36 to 40 are based on the following passage:

The idea behind “the rule of law” is that, it is laws based on logical reasons and clear thinking that
should govern social life. “We live under a rule of law, not of men.” American teachers tell their students.
The students accept the idea. They believe that “no man is above the law,” and that laws apply equally to all
people no matter how wealthy they are, what their personal connections are, or what their stations in life are.
Their faith in the rule of law explains the belief many Americans held, and many foreigners could not under-
stand, that President Richard Nixon should be removed from office as a result of his behavior in connection
with what was called “ Watergate Scandal”. Nixon had broken the law and therefore should be punished.
Americans believed, even if he was the President. . :

The belief in the rule of law goes beyond the area of politics to other areas of life that are governed by for-
mal rules and procedures. To get a job with government institutions, for example, or to. get government funding
for a research project, one must follow publjshed procedures and show that one meets the published require-
ments. Personal connections are not supposed to matter under the rule of law.

This is not to say that personal contacts, wealth, and social influence do not matter in situations where
laws and rules are to be obeyed. They may. What is said above describes the ideal with which Americans
agree. In reality, connections can sometimes help a person get a government job. Rich people can sometimes
go unpunished for illegal behavior that poor people would be likely to be punished for. But in general the rule

of law prevails, and Americans are proud that it does.

36. The word “stations” (Line 5, Para. 1) is closest in meaning to

A) stages B) situations C) successes D) social positions
37. The writer mentions President Richard Nixon in the first paragraph in order to show that .
A) no man is above the law B) the president should make sure of the rule of law

C) the rule of law is important in politics =~ D) American people have the right to remove the president
38. It can be learned from the last paragraph that in the United States the rule of law .
A) is not carried out as fully as it should be
B) makes poor people also likely to be successful
C) is, in reality, almost impossible to realize
D) makes sure that everyone is punished for his-wrongdoing
39. The pronoun “They” in the second line of the last paragraph refers to all of the following except‘

A) personal connections B) laws and rules
J— 6 —_—



C) social influence D) wealth
40. The passage is mainly about _____ .

A) America’s faith in the rule of law

B) law and personal connections in the U.S.

C) the equality under the American rule of law

D) the American rule of law in theory and in practice

Part 1T Vocabulary and Structure(15% ) (20 minutes)
Directions: There are30 incomplete sentences in this part . For each sentence there are4 choices marked A),

B), C), and D). Choose the ONE answer that best completes the sentence . Then mark the corresponding let-
ter on the Answer Sheet with a single line through the center .

41. Just because she is young, it doesn’t _____ that she cannot be trusted with such a task.
A) prove .B) follow C) explain D) represent
42. The professor questioned John ____ the country. -
A) about B)of C) over D) for
43, He worked to the best of his for his company.
A) knowledge B) technique C) ability D) skill
44, We want him to leave the room but he won’t _ to it.
A) allow B) admit C) agree D) approve
45. The area is 100 meters ____ the sea level.
A) under B) beneath C) below D) low
46 . The rain was heavy, and _______ the field was flooded.
A) however B) consequently’  C) whatever D) but
47. In the future he hopes to go _ for further study.
A) away B) on C) abroad D) far
48. 1t is the in this country to‘go out and pick flowers on the first day of spring.
A) behavior B) habit C) custom ~ D) manner
49. Doyoumind if I __ with my work while you are getting tea ready?
A) put ‘on . B) take on C) turn on D) carry on
50. The _____ soldier was very thirsty. He cried for water.
A) harmed B) wounded - C) damaged D) destroyed
51. Come over here, Mary, and stand _______ me.
A) besides B) towards C) by D) beyond
52. your step, or you might fall into the water.
A) See B) Watch C) Notice D) View
53. She speaks English with a Chinese .
A) dialect : B) tone C) accent D) pronunciation



54.

55.

56.

57.

58.

59.

61.

62.

63.

65.

67.

My mother is old but her mind is still

A) clever B) sensitive C) sharp D) awake

What do you mean ______ saying so?

A) by B) for C) at D) in

Your son gets _____ pocket money.

A) too many B) far too much C) too far much D) much too

Mark Twain once wrote, “The more I know about human beings, I like my dog.”
) A) the most B) the more C) the many D) the much

The building is said _____ in a fire two years ago.

A) to have destroyed B) to be destroyed

C) to have been destroyed D) to destroy

Choose a room or area where you can work without 4 .

A) disturbing B) being disturbed C) having disturbed D) having been disturbed
. By tomorrow Daniel ______ in bed for a wlaek since he caught the flu.

A) will have been B) will be C) have been D) will be being

Concentration allows you on just one thought or bit of information at a time, eliminating every-

thing else. -

A) focus B) focusing C) to be focused D) to focus

I never trusted him because I always thought of him ______ such a suspicious character.

A) for B) as C) like D) to

I shall expect you to dinner next Tuesday I hear anything to the contrary.

A) unless B) until C)if D) only if

Is there any particular reason ______ you can’t come?

A) when B) where C) why D) that

Let’s play tricks on her, ____ 7

A) don’t we B) are we C) dowe D) shall we
. Mrs. White’s gone to the United States, and ___ .

A) so does her husband B) so has her husband

C) so her husband is D) nor has her husband

He seldom comes except _____ at my pictures.

A) look B) to look C) looking D) be looked

68.

69.

70.

T am very sorry to say that your usual room is not free now and the only one I can offer you is
comfortable . '

A) less B) little C) much D) least

We didn’t go out last night. We
A) must have gone B) need have gone C) could have gone D) might have gone

to the cinema but we decided to stay at home.

It was only then how much I owed to her.
A) did T realize B) had 1 realized
C) I did realize D) that I realized



Part IV Cloze(10% )

(15 minutes)

Directions: There are 20 blanks in the following passage. For each blank there are 4 choices marked A), B),
C), and D) on the right side of the paper . You should choose the ONE that best fits into the passage . Then
mark the corresponding letter on the Answer Sheet with a single line through the center .

Everyone knows that worms are good for catching fish. But
do you know that worms are _ (71)  for plants and for the soil

itself? That’s _ (72)  why earthworms can be called (73) .

The earthworm _ (74)  much of his time burrowing (¥T
H437) into the earth. Buthe  (75) _ dig the way most animals
do. He doesn’t push the earth aside.  (76)  he eats it! He
can gobble (BB ) out

(77) _ a distance in a short time.
He has been known to dig as _ (78)  down as eight feet.
The tunnels __ (79)  out by the earthworm allow air from
the surface to enter the soil. The air spaces give plants _ (80)
room to spread their _(81) . The worm’ s tunnels are passage-
ways for water too. The soil drains _ (82) , thanks to the
earthworm.
The earthworm’ s eating habits __(83) _ the soil in ofher
ways. He drags leaves into his burrow to eat _ (84) . The
leaves and other vegetable matter the worm brings undergmund
(85)  to make the soil richer.
The earthworm _ (86)

round to the gurface.. He eats the soil that holds

brings chemicals form underg-
(87)

.chemicals . Then he goes to the surface and deposits the waste
(88) food that _ (89) through his body. These little

71.
72.
73.
74.
75.
76.
17.

78.

A) profitable
C) harmless
A) usually
C) regularly
A) wanders
C) wonders
A) spends
C) costs
A) has to
C) does

A) Contrary
C) Instead
A) fairly
C) very

A) far

- C) further

79.

80.

81.

82.

A) dug
C) picked
A) more
C) many
A) leaves
C) roots
A) fast

~ C) worse

83.

. 85,

26.

A) reduce

C) increase

. A) late

C) recently
A) like

C) help
A) well
C) either

. A) these

C) that

. A) with

C) from

. A) goes

C) has gone

B) good

D) healthy
B) really
D) completely
B) pests
D) pets

B) takes
D) wastes
B) hasn’t to
D) doesn’ t
B) Opposite
D) Indeed
B) quite
D) pretty
B) farther
D) beyond
B) moved
D) dragged
B) less

D) mass

B) branches
D) stems
B) slow

D) better
B) improve
D) promote
B) later

D) lately
B) let

D) have

B) also

D) all

B) above
D) such

B) for

D) into

B) went

D) will go



clumps (B18R) are called “castings”. In _ (90)  through the 90. A) putting B) pulling

earthworm’ s body the chemicals in the soil are changed into a C) running D) passing
form that plants can use.

Part V Writing(15% ) (30 minutes)

Directions: For this part; you are allowed 30 minutes to write a composition on, the topic . You should write at
least 100 words and you should base your composition on the outline ( given in Chinese ) below :

The Importance of Copﬁdence
1. AEBEFHEL.
2. BERLORIRE,
3. B fELRTHEM.



Simulated College English Test
— Band One —
Test Two

Part | Listening Comprehension(20% ) (20 minutes)

Section A Short Conversations

Directions: In this section, you will hear 10 short conversations . At the end of each conversation , a question
will be asked about what was said . The conversation and the question will be-read only ONCE . After earh ques-
tion there will be a pause . During the pause, you must read the four choices marked A), B), C) and D),
and decide which is the best answer . Then mark the corresponding letter on the Answer Sheet with a single line
through the center .

1. A) 10:15. B) 10:20. C) 10:10. D) 10:05.
2. A) At home. B) In the hotel. C) At the airport. D) At the post office.
3. A) 15. B) 23. 07. D) 2.
4. A) Husband and wife. B) Two close friends.
C) Brother and sister. D) Mother and son.
5. A) It’s Kate’s. B) It’s the man’s.  C) It’s the woman’s. D) It’s an officer’s.

6. A) No, because thie VCD is sold out.-
B) Yes, if he fetches some money.
C) No, because he doesn’t have enough money.
D) Yes, if he returns the money back to the woman on time.
7. A) She likes it very much. | B) She doesn’t like it at all.
C) She is very excited. D) She couldn’ t understand it.
8. A) The woman doesn’t agree with the man.  B) The man hardly agrees with the woman.
C) The woman totally agrees with the man. D) The man totally agrees with the woman.

9. A) He didn’t go to the court. B) He would go to the court.
C) He had to go to the court. D) He would go to the court if he had been asked.
10. A) The woman’s bike was stolen. B) Tom’s bike was stolen.
C) The man’s bike was stolen. D) Nobody’s bike was stolen.

Section B Passages

Directions: In this section, you will hear 2 passages. At the end of each passage , you will hear some ques-

tions . The passage and the questions will be read only ONCE . Afier you hear a question , you must choose the

best answer from the four choices marked A), B), C) and D). Then mark the corresponding letter on the An-
R 1 J—



swer Sheet with a single line through the center .

Passage One
Questions 11 to 13 are based on the passage you have just heard
11. A) 15 minutes a day. B) Half an hour a day.
C) One hour a day. D) 15 minutes or half an hour a day.
12. A) At least 15 minutes.B) At least half an hour.
C) At least one hour. D) At least 15 minutes or half an hour.
13. A) Money. B) An easy book.
C) An easy and entertaining English book . D) An English book.

Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) They are better at telling lies than men. B) They are worse than men.

C) They tell fewer lies than men do. D) Women liars are better accepted than men hars.
15. A) A lie whose color is white. B) A lie which has an evil purpose.
C) A lie which is unbelievable. D) A lie which is told with a good will.

16. A) Because they can be thought as honest men.
B) Because they can do everything easily.,
C) Because they may gain some advantages.
D) Because it is a skill that politicians and businessmen must have.

Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A) Because his hotel was far away from the beach.
B) Because he went to the beach too often.
C) Because he took water with a bucket.
D) Because he had to walk so much.
18. A) He asked whether he would be allowed to take a bucket of salt water.
B) He asked whether he was allowed to swim far in the sea.
C) He asked if the lifeguard did a good business.
D) He asked the lifeguard to help him with his feet.
19. A) Because it was a very hot aftemnoon.
B) Because the wind had been blowing hard.
C) Because the tide had gone out.
D) Because a lot of people had taken water from the sea.
20. A) Life-guarding was a very good business.
B) The lifeguard was a good business.
C) The sea water was very cheaper.
D) One bucket of sea water was not enough for his feet.
— 2 ——



Part [ Reading Comprehension(40% ) (35 minutes)

Directions: There are 4 passages in this part . Each passage is _followed by some questions or unfinished state-
ments . For each of them there are4 choices marked A), B), C) and D). You should decide on the best
choice and mark the corresponding letier on the Answer Sheet with a single line through the center .

Questions 21 to 25 are based on the following passage:

The way in which memory takes place is not known. Some psychologists think that there is a physical
change in the brain cells or nerves when leaming takes place.

Psychologists are also unable to say what makes people forget. Some things are forgotten quickly while
others are always remembered. Sometimes a person seems to have forgotten certain material completely, yet is
able to relearn the material more quickly than when he first learned it. In trying to understand memory, psy-
chologists have done a lot of experiments.

Psychologists have found that the conditions under which something is learned have an effect on how well
it is remembered. When a great deal of material is to be leamed, for example, to leam one thing at a time is
better than to learn many things at the same time. A person then learns more quickly and remembers better.

Learning two similar things one after another seems to have a bad effect on memory. When a person mem-
orizes two sets of historical dates, one after the other, for example, he may mix up the two—the leaming of the
new material prevents the remembering of the already learned material.

Most forgetting takes place in the first day or so after leaming. After that, forgetting happens more slow-
ly. Material that is understood—such as ideas or riddles—is not so easily forgotten. Very little forgetting takes

place in time if an idea is well understood. The more meaningful the leamed material is, the better it will be
remembered .

21. The reasons for remembering and forgetting .

A) are not clearly known by people B) are clearly known only by psychologists

C) are different from person to person D) are not being paid enough attention to
22. What psychologists can be certain of is that __

A) remembering and forgetting are sot two different from each other

B) the way we leam affects how much we remember

C) the more people learn, the better they can remember

D) remembering and forgetting cannot be understood
23. According to the passage, two similar things

A) should be learned at the same time B) should not be leamed at a time

C) should be analyzed before being leamed D) should be releamed again and again
24. The meaning of a leamed material __

A) has little to do with remembering it

B) prevents the remembering of 1t

C) depends on conditions under which 1t is learmned

D) has a good effect on how well it is remembered



